B VCE & PDF https://lwww.geekcert.com/500-275.html
' 2024 Latest geekcert 500-275 PDF and VCE dumps Download
: GeekCert.com

500-2759%AS

Securing Cisco Networks with Sourcefire FireAMP Endpoints
(SSFAMP)

Pass Cisco 500-275 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/500-275.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

500-275 VCE Dumps | 500-275 Practice Test | 500-275 Braindumps 1/3


https://www.geekcert.com/500-275.html
https://www.geekcert.com/500-275.html
https://www.geekcert.com/500-275.html

VCE & PDF https://lwww.geekcert.com/500-275.html
2024 Latest geekcert 500-275 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Where does an administrator go to get a copy of a fetched file?
A. the Business Defaults page

B. the File menu, followed by Downloads

C. the File Repository

D. the Search selection in the Analysis menu

Correct Answer: C

QUESTION 2

FireAMP reports can be distributed by which mechanism?
A. email

B. cloud sync

C. Windows file share

D. a Crystal Reports subscription

Correct Answer: A

QUESTION 3

In a FireAMP Private Cloud installation, an administrator uses which server to configure the FireAMP Private Cloud
properties?

A. opadmin..com
B. console..com
C. cloud..com

D. aws..com

Correct Answer: A

QUESTION 4
Which FireAMP capability can tell you how malware has spread in a network?

A. File Analysis
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B. Threat Root Cause
C. File Trajectory
D. Heat Map

Correct Answer: C

QUESTION 5

Which statement describes an advantage of cloud-based detection?

A. Limited customization allows for faster detection.

B. Fewer resources are required on the endpoint.

C. Sandboxing reduces the overall management overhead of the system.

D. High-speed analytical engines on the endpoint limit the amount of work the cloud must perform.

Correct Answer: B
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